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1.1

10.

1.

12.

13.

14.

15.

[‘{? \?'5] is called ..... matrix.

(A Zero § (B) Unit (s (C)

Write 43/2 with radical sign _____.

(A) Va2 (B) V4 (©)

The relation x = log,y implies
W e=y B =y © )
a® — b3 is equal to :

(A) (a+b)(a*+ab+b?) (B (a —""b{)

(©) (a+b)(a®—ab+b? 0) “(a-b)

Factors of 3x% — x — 2 are ¥

B GrD.Ge-2) B GiDEED O @162/ O

Note: Wiite Answers to the Questions on the objective answer sheet provided. Four possible answers A, B, C and D to each question are give

answer you consider correct, fill the cormesponding circle A, B,

wnih [P 8
Scalar A~ (D) Singular .t
BV B su
m ms
_}fx = logey /i

(a® + ab + sz ;
G T _u:,_l_q;bé,tZ!Lsz —x-2
(x—-1,(3Bx+2)

H.C.F.of x — 2 and xzx,,-lf x—6is__"4 » zﬁ..c&____f%ﬁé()(z + X — 6uix — 20

(A) (x-2) 7 (B xt+x—6-" (0 . x+3) 7 O (x+2)

x=__Isa solutiopfdf the inéquglity —-2<x< -3— . -%UT;VQV.L{JFL—Z <x< g_:,m/ Axe=

™) —5 e o © /3 ) :

It (x, 0) = (0, ), then (x,y) is " T e yia0) = (0,)]

") ©n @, @O © 00 ® @D

Distance between the points (1, 0)'and (0, 1)is B e Mdles¥(0,1) (1, 0)46

® 1 ® .z © 0 o) vz

Total parts of a triangle are: oy s S L

(A) 6 (B) 2 (€) 4 (D) 5

In a parallelogram diagonals intersect each other in the ratio:  _ 2 /¢ Boedl S pulinltusngne

A) 1:4 (B) 1:1 € 2:1 {9)] 1:3

The symbol used for perpendicular is: ;4‘,‘3 adeierd Lo

(A) = (B) o (€ i ) o

" ~ " symbol is used for: e driters” ~

(A) Similar ¥ {1 (B) Congruent Je (€ Equal 4/ (D) . Perpendicular »»

Medians of a triangle are: e bs Lk

(A) 1 (B) 3 ©) 2 (D) 4

The right bisectors of the three sides of a triangle are: st iebforf LELwnt s Ll

(A)  Congruent S (B) Collinear &7 (€ Concurrent &7 (D) Parallel (15
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C or D given in front of each question with Marker or Pen ink onthe answer sheet provided.
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SECTION- Jilo
2. Write short answers of any six parts from the following: (2x6=12) i Langa M pdits 2
I Find the determinant of matrix: P E é] e
i Simplify: . 2yt L i
( atyigh ) S
iii.  Write conjugate of the numbers: B ér,u, Jf{ Jii
iv.  Write into sum or difference: l - u’ftf JA L,f L r»fjb ) \::I\V
043 15 «\_‘;‘ \ ’ ‘ i
v.  Define logarithm. w /_,J /,L_(//g,; v
vi.  Simplify: ESTA R £\ gy Sg# i
ply (V2+5) (V21 @)u _ : &
Vil iy =2 -3, ﬂnd% A J/(:L”JJ—WX =2 \/— Ji i
vii, Factorize: -1 e N g i
ix.  Factorize: 27x - 64y / \} AP
3. Write short answers of any six parts from the followmg (2162 "2) /i/ :yﬁ’ Lﬂﬂicéi Pdsts 3
. Findthe LC.M: N 397y 3 and‘%xsy Iy A [T
i Solve: 13 4 ml =6 L
ii. Solve: )) N ! ) ) ’é ] + 5<1 \ / . 5{’ J: Jii
V. Find the value of m and ¢ by expressmg itin the had «L,"),{"LV(!‘{ L feamy/ ity = mx+ cfente W
fomy =mx+c ® . - =
V. Verify whether the point (2, 5) lieson the lme 2x —y' + 1 =0ornot. _ » Lwdfu?x v+ 1= 0002, 5) BULI &GS Y
vi.  Using the distance formula find the distance . A(B 4),B(4,2) LS it LbG s S i bty I
between the points. - )
vil.  Find the midpoint between: e b0 bnr e il
vii.  What do you mean by SA.S postulate? *~ el e otk il
ix, Define parallelogram. g LW ix
4. Write short answers of any six parts from the following: (2x6=12) W ILf iz .J.’.,fzugc,éf St 4
i Define bisector of fine segment. 2 Sl
il. {10 cm, 6 cm, and 8 cm are the lengths of a el (S ATunf AT g oS L et g fi

triangle, then venfy that sum of measure of two sides

of triangle is greater than the third side. e btre UGG o 2 e U2

lil. If A LMN shown in the figure MN||PQ if L S MN||PQUALMN 0 2§, i
mLM = Scin, mLP = 2.5cm, mL) = /\ -
2.3 cm then find m L. #mLP = 25cmanlM = Sem
P—a - SUEMINT emLQ = 2.3 cm

P.T.0.

LR P



vi.

Vi,

viii.

iX.

Note

_—

" - LN —2 4

Verify the given sides @ = Sem, b = 12em, ¢ = 13¢m  pe = 13emeb = 12cmea = ScmUdS L S E 3P W
make right angled triangle. & ik &,

B el ¥
Find the unknown value of x in figure. Gpteddxen g f
i 17
9
0N\
Define altitude or height of a triangie. L Al Let M
Find the area of given figure: il M &b S LSy Wi
S5cm // 5
4 - u\u’\__ § «(ﬂ
Define orthocenter. g __4, /.rb/( Ty /d»’ [ pg g Vi
Construct a triangle XY Z in which: mY] 7 6 rm mXY 6\1 om and meLx = 90 ,,,5@ XYZods X
Sectionl | \ (ax3~z4) ' ;; \>
ST, . ;_ i
Atternpt any three questions ir all V?hl!e Q.No 9\3\5 compulsory: ‘ f _ '?"5’”9 ﬁ/ i u, ¢ /uu 2Ll J’/

(I 5 Ll

Grt+ly=-2 7 ES ey Lok ()5

Solve by matrix inversion method:
e Snby=—4 i 7

Simplify; N Y T | e

; fy . (216)*% X (25}1!2“/ A ()

f: ,\% 1 g/ e y ( 04%\ 1/2
Usé log tables o find the value of: (433)3 /0056 /7 ,Lv_.,géuw,ug(” £ ()6
If5x — 6y =" 12 then find the value of 125x3 — 216y3 S if125x3 — 216y%9x5x — 6y = 12/ ()
[f(x - 1)isa facfor ofx % kx2 S 11x — 6, then find the sl Akt - kx4 11x - 6L?/,§f(x -0h ()7
value of k A il
Find the value of k for Wthh éxpressnon wﬂl 4x* —12x3 -3Tx? -2 x +k Lol /.)*[ ,L:,qﬁg/(}n;}d’ ko
become a perfect square: ,;;_‘Z i " ) (=)
Solve the given equatrons - % " (x _ %) -y & e L ()8
ConstructAABC and draw the bisectors of their angles. -u"’( Uil it ABCeE (o)
mAB = 45¢m, mBC = 3.1cm, mCA =52cm mAB = 48emnbE = S tem i = 52 om
Prove that right bisectors of the sides of a triangle are concurrent, BB A L L abas’ St 9

. OR "
Prove that triangles on the same base and of the same (i.e Limndrlbal sl LingP @S et
equal) altitudes are equal in area. ’ - < - S
«JUM/.
Z 222-09-A
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Note: Write Answers fo the Questions on the objective answer sheet provided. Four possible answers A, B, C and D to each question are given. Which
answer you consider correct, fill the corresponding circle A, B, C or D given in front of each question with Marker or Pen ink on the answer sheet provided.

11

12,

14.

15.

What will be added to complete the square of 9a* — 12ab?

A ~16b? (B) 16b?
The square root of a — 2a + 1.

A) Ha+1) (B) Lt~ 1
x = (s a solution of the inequality____.

A x>0 (B  3x+5<0
fy=2x+1,x=2thenyis:

{A) 5 (B) 2

triangle having sides equal is called:
(A} Isosceles AUl (B)
H.S = H.S Postulate is used for only friangles.
(A} Acuteangled smb  (B) " Right angled 1 4176
One exterior angle forgméd on producing one side of a
parallelogram is 40 “then its interior angles are:
(A) - 140°140°,140°40° (8)
Right angle means angle measure:

Scalene fusuii -

40°,40°,40°, 140°

Ly SOV Lkl pJ69a — 12ab 1]

(©) 4p2. (D) —4p?
S e Bhavd-2at1 2
(©) (@=1) D) @+1)
e Moy L emeogr=0 3
{0 x+2<0 0  x-2<0
. 1 4 \:“c‘;;:ufyiny =x+1la=2/ 4
(©) 4 0 3

< S sin nASPIUE LB

(© Equilateral G- (D) None of these U 8/t ur

o -c‘-ugwwé.ﬁ_dwf;___;ﬂfét;,sé‘”—;, 6
(C). Obluseangled .o (D) Noneofthese S e Lo
K4071;IJGJ;5;IQUI:&,@LbZIéQ Ll LS T
v Sumy s SupibunL i
(€)  1407,120°,40°40" (D) 40°,40°,140, 140°
PGS e 1276 8

w90 @ ¢ 30 © 180° (D) 60"
One and only one ling can be drawn through . points. P lis s dieis__ 9
(A) 3 ~ (B) 9 (C) 4 (D) 5
Median of a triangle divides it into . triangles of equal area. et /‘,-“ LU bdde bl A0
@ 2 @ 3 © 4 o) 6
i two medians of a riangle are congruent then the triangle wil be: S ebuiunfesbmleb /i M
(A}  Rightangled /176 (B)  Equilateral Luuigsl- (C) Isosceles AU (D)  Acute angledi/iss
L1120 31 1 2 3]
The order of [2 1 2] is < 206 [2 1 2]_,)(: A2
(A) 2by3 (8) 3by2 (C) 2by 2 (D) by 3
il _1/
a3 27\ /3 _ 13
(EZ) i ; (64) T ‘
3 9 9 4
= Z Z D -
® : ®) - © - o) .
log a= ‘ log a= . 14
(A) a (B)° 0 () 1 (D) -1
(3-V3)3+V3)=_____ (3-V3)(3+3) = .15
(A) 3 (B) 6 o 12 (D) -6
223-09-A
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Vi.
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(Group-il
SECTION
Write short answers of any six parts from the following: (2x6=12)
Find the values of ‘¢ and ‘" if {C g 2 4d3— q] - [3 3

. . 4 7
Give a rational number between E and p:

Simplify the radical expression: -8
£

Evaluate: .
Log2 155
Calculate: Logs2 X Log,81

R - & o -
Evaluente’—‘—ft_—z-2i for: x=-1,y=-92=4

Simplify: (\/g . @)2
Factorize: o 144a% +24a +1

Use the remainder theorem to find the remainder when 523 ~12x% + 1lx
5 is divided by (x — 3). :

\rite short answers of any'_,s'ifx parts from the followi‘"h‘g:k (246=12)
Find the H.C.F of the expression: 39xi3r§z and 91x5y®7”
Solve for x: S in.‘—« 51 =4
Solve 1 ion: ~ 7 1 3 &
Solve the equation: : ‘ 2 e —x =g

e ' 3 2 7 6
Draw the graph of the equation: . o x=Eb
Find the vaiue of m and ¢ of the lines expressing in =3y = 1
the formof y = mx + ¢ i
Find the distance between the pair of points . 4(9,2),B(7,2)

Find midpoint of the line segment joining pairs A(-9,3),B(7.3)
of points:

Define congruent triangles.

Define parallelogram.

Write short answers of any six parts from the following: (2x6=12)
Where the right bisectors of the sides of an obtuse triangle
intersect each other?

Can the given set of lengths be the lengths of
the sides of a triangle?

Define proportion.

2cm, 4cm, 7cm

P.T.0.

) w3 2%

5 24
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- W2 )
V. Find unknown value of x: & e ddxe i
8cm
r .
2cm
v. lfa =9cm, b = 12cm, ¢ = 15cm then verily that the S S dudisc = 15ecmeb = 12emea = 9em /i
triangle having these measures of sides is right angled. T .
_.7__.;‘»3",35!)1:;1?
vi.  Whatis triangular region? ) te bl o
vil.  Find the area: S 7 :‘,5/},&”,}1
// 5cm
vii  Define point of concurrency? S LI PR
ix.  Constructatriangle XYZ inwhich: ~ mVYZ = 7.6 cmn, mX’T = 6.1 cmandmex =90’ o, ' . ngﬁ,‘ XYZ sl
Sectiondi b (8x3=24). ) et
Note: Attempt any three questions in all white QNo 9is compulsory » e il /,: Ui ﬁu’ 12  Fapglotrd S
5(a) Solve by using Cramer's ule: 2% — 3y=5 T L P e il LS
' ) 4x -2y = ~1 ' : "
(b)  Simplify: « 613" -3 yon= l(243) A N
9)%@)°
6(a) Use Iogmhm fo find the Value of: . o 08176% 1364 . e d el 4
(o) lfx+/+z =14andx? +y* +z% = 74thenfmdthe xy +yz Hinx +y? +2 = Thoix +y +2 = 14/
va!ue ofxy + yz+ zx % I (
= i (‘yt”;u,_ulx
7(a) Factorize: = : v hx?—yt-2y~1 A
(b)  Find the value of K for whicfrthe given St 4y 4 1027 — kr +9 bt S AYH L LAY 2d ik
expression will become @ perfect square: ’ , -
8(a) Solve the following equations: |3 —-5¢ 1 2 et
o 4 1 373 _
(b) ConstructAPQR and draw their altitudes. EE LB L it PQRES:
mPQ = 4.5cm, mQR = 3.9cm, mLR = 45 mPBG = 4.5cm, m@ = Som, Ml e is
9 Prove that “The right bisectors of the sides of  triangle are concurrent’. Sl By Laby ot
OR b
Prove that “triangles on the same base and of same (i.e equai) Aad Smusst AL iUnBig y PN i e
alfitudes are equal in area’. ’
-"J I
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